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Evaluate the following integral ∫ cos(2𝜋𝑡)   𝛿(𝑡 − 2)𝑑𝑡∞

−1   (2 points)  
 
=cos(2𝜋2) = cos(4𝜋) = 1 
 
 
 
 
 
 
What is the fundamental period

𝑔(𝑡) = cos(2𝑡) + sin(4𝑡)  (2 points) 
 of the given signal? (Assume units of seconds for the t-variable)   

 
ω1=2, ω2=4 ,  ω for the sum=2 
f  for the sum= ω/2π=1/π 
T=1/f=π  seconds 

 
 
Find the energy and power of the following signal x(t)  (3 points) 
 
 
P= 0  (Finite Energy) 
 
E= Area under the squared of the curve= 4 
 
 
 
Is it an energy signal or power signal?   Energy 
 
 
Sketch       -2П(1-2t).   (3 points) 
 
= -2П(-2(t-1/2)). 
 
 
 
 
 
 
 
 
 
 
 
 

Most people quit. I will not quit. I am a fighter. I can do it ! 

Serial # 
 
 
-1  points for not 
writing your serial # 

1/4 3/4 

-2 


